










Psalm 78: 1-4 William Byrd

Deus venerunt gentes
Cantiones sacrae I, 1589, nos.11-14















Superius
(Alto)

Medius
(Tenor)

Contratenor
(Tenor)

Tenor
(Baritone)

Bassus
(Bass)

    
 

De


us,



De


us
 ve


ne

 runt
 gen

 
   

De


 

us,




De


us

 ve


ne


 runt

 gen

   
tes


    

 
De


us,




De


us
 ve


ne


 runt

 gen

    


   

 

De


us,





De


us





ve


ne


 runt




    
 

De


us,





De


us

 ve


ne


 runt




10



A.

T.

T.

Bar.

B.

    
tes

  
in

 
he


re

 di

 ta

 tem

 tu

       
   

in

 
he


re

 di

 ta


 tem


 tu

         
   

    
tes




 
in

 
he


re

 di

 ta

 tem

 tu

     
  

 
gen


tes




 
in

 
he


re


 di


 ta


 tem


 tu

  


 
gen


tes




in

 
he


re
 di

 ta
 tem

 tu
 



A.

T.

T.

Bar.

B.

 
am:


  

pol


lu


 

 
am:




pol

 
lu


 e


 runt


 tem


plum


 san

 
ctum


 tu

 


 
am:





pol


lu


 e

 runt


 tem

 
plum,





pol




     
am:

 



pol


lu


 e


 runt


 tem

  
plum


 san




 
am:



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



A.

T.

T.

Bar.

B.

 
e

 runt

 tem

   
plum,

 
 

pol

 
lu


 e

 runt




  
um,


 

pol


lu


 e


 runt


 tem


plum


 san




  
lu


 e


 runt


 tem

   
plum


 san

 
ctum

 tu

 
um,




  
ctum


 tu

    
um,


  pol

 
lu


 e


 runt


 tem

      
 

  
pol


lu


 e


 runt


 tem

      
plum

   san




20



A.

T.

T.

Bar.

B.

 
tem

      
plum




san

 
ctum

 tu


um;




 
ctum


 tu


um,





san


ctum


 tu

  
um;




po

 
su

 e


 

   
san

 
ctum


 tu

    
um;





po


su


 

   
plum


 san


ctum


 tu

  
um;




 
po

 
su


 e


 runt




 
ctum

 tu


um,

 san


ctum

 tu

  
um;


 







A.

T.

T.

Bar.

B.

    
po


su

 e

 runt

 Hie


ru




       
 

runt


 Hie


ru


         

sa

   lem,


 po

 
su


 e


 runt


 Hie




 
e


 runt


 Hie


ru

 
 sa


 lem,


 Hie


ru


 sa


 lem,




Hie


ru


 

 
Hie


ru




    
sa

  lem,




 

    
po


su

 e


 runt


 Hie


ru




     
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30



A.

T.

T.

Bar.

B.

  
sa

 lem,

     
in



 
ru

 
 sa


 lem,


 po

 
su


 e


 runt


 Hie


ru





sa


 lem,




        
sa

  lem,


 po

 
su


 e


 runt

 Hie


ru


    

sa

 lem,


   

po


su


 e


 runt


 Hie


ru




       
sa


   

  
sa

 lem,





po


su

 e

 runt

 Hie


ru

 
sa
 lem,





A.

T.

T.

Bar.

B.

  
po


mo


 rum

 cu


sto


      

di

   am,




 
Hie


ru


 sa


 lem




 
in


po


mo


 rum


 cu


sto




   


 
Hie


ru


 sa


 lem


 in


po


mo


 rum,




 
in


po




 
lem,


 Hie


ru


 sa


 lem,


 

in

 
po


mo


 rum


 cu


sto


 di


 

   
in

 
po


mo


 rum


 cu


sto


 di


 am,


 

40



A.

T.

T.

Bar.

B.

   
in

 
po


mo


 rum

 cu


sto

 
di

 am,


  

di


 am,


 cu


sto


 di


 am,





in


po


mo


 rum


 

mo


 rum

 cu


sto


 di

 am,


 in

 
po


mo


 rum


 cu


sto


 di


 

 
am,


 in


po


mo





rum


 cu


sto


 di


 am,




in


po




      
in



3







A.

T.

T.

Bar.

B.

 
cu


sto

 di

     
am,


 

in


po




  
cu


sto


 di


 am,





in

 
po


mo


 rum


 cu


sto


 di


 

 
am,




 
cu


sto


 di


 am,





in



 
mo


 rum

 cu


sto




         
di


     am,




  
po


mo


 rum


 cu


sto




 
di

 
am,

 cu


sto

   


50



A.

T.

T.

Bar.

B.

 
mo

 rum

 cu


sto




    
di

  am,

 cu


sto

 di

 am.


 

am,


 cu


sto





di


 am,





cu


sto




   
di

  am.


  

po


mo


 rum





cu


sto




    
di

  am,




cu


sto


 di


 am.




  
cu


sto




   
di


  am,





cu


sto




    
di


  am.




  
di


 am,




cu


sto




   
di


  am,


 cu


sto





di

 am.


Secunda pars



A.

T.

T.

Bar.

B.

      

 
Po


su


 e


 runt


 mor


ti


 ci


 ni


 a


 ser


vo


 rum





tu


o







      
Po




  
Po

 
su


 e


 runt


 mor


ti


 ci


 ni


 a


 ser


vo


 rum


 tu


o


 

      
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60



A.

T.

T.

Bar.

B.

   
Po


su

 e


 runt

 mor


ti


 ci

 ni

 a


           

rum,

    mor


ti


 ci





ni


 a,


 ser


vo


 rum

 tu

 
  

su


 e


 runt


 mor


ti


 ci





ni


 a,




 
mor


ti


 ci


 ni


 a




         
rum,

   ser


vo




   
rum


  tu


o




 


      





A.

T.

T.

Bar.

B.

 
ser


vo

 rum

 tu


o

 
rum,


 

po

 
su

 e


 runt




 
o


       

rum,


  


mor


ti


 ci


 ni


 a


 ser


vo

   
rum




 
ser


vo


 rum


 tu


o


 rum,




mor


ti


 ci

 
ni

 a




ser


vo


 rum


 tu

 
 

rum,




 
mor


ti


 ci





ni


 a


 ser


vo


 rum


 tu


o





rum,





mor




 

Po


su

 e


 runt


 mor


ti


 ci


 ni


 a

 ser


vo

 rum,
 ser


vo


 

70



A.

T.

T.

Bar.

B.

  
mor


ti

 ci

 
ni
 a

 ser


vo

 
rum

 tu


o

  
rum




e


scas


  
tu


o





rum,





ser


vo


 rum


 tu


o

 rum

  

 
o

 rum,


 

ser


vo


 rum


 tu


o




   
rum,

 ser


vo


 rum,




 
ti



 ci


 ni


 a


 ser


vo


 rum


 tu


o


 rum,


 ser


vo


 rum


 tu


o


 rum




 
rum

 tu


o




 
rum

  
e


scas
 vo

 
la

 ti


 li


 bus


 coe

 


5







A.

T.

T.

Bar.

B.

 
vo


la

 ti

 li

 bus

 coe

       
li,

 
 

e


scas


 
e


scas
 vo

 
la

 ti

 li


 bus


 coe

 
li,


 e


scas

 vo


la

 ti


 li


 bus




  
tu


o




   
rum





e

 
scas

 vo

 
la


 ti


 li


 bus


 coe

 


   
e


scas

 vo


la


 ti


 li


 bus


 coe

  
li,




   
li,




 
e


scas,

 e

 



A.

T.

T.

Bar.

B.

 
vo


la

 ti

 li


 bus





coe

     
li,


  coe




 
coe

   
li,




 
e


scas

 vo


la

 ti

 li


 

 
li,


 coe

   
li,


 coe

  
li,





coe

      
 

  
e


scas

 vo


la


 ti


 li


 bus


 coe


li,






e




 
scas
 vo


la


 ti


 li


 bus


 coe

 
li,






80



A.

T.

T.

Bar.

B.

 
li,




 
e


scas
 vo


la

 ti

 li

 bus


 coe

 
li:




 
bus


 coe

  
li,


 vo


la

 ti


 li


 bus


 coe

 
li,

  



vo

 
la


 ti


 li


 bus


 coe




       
li,


 

 
vo


la

 ti


 li


 bus


 coe




 
scas


 vo


la


 ti


 li


 bus



 coe

 

li,


 e


scas

 vo


la


 ti


 li


 bus


 coe

   


 
e


scas

 vo

 
la


 ti


 li


 bus


 coe

 
li,


 vo


la


ti


 li


 bus





coe

    


6







A.

T.

T.

Bar.

B.

  
car

 
nes

 san


cto


 rum


 tu


o


   

rum


 

    
li:




  
car


nes

 
san


cto


 

  
li:


 car


nes


 san


cto


 rum

 tu


o




  
rum


 



 
li:





car


nes


 san


cto


 rum


 tu


o


 rum,


 car


nes


 san


cto


 

  
li:




   
car


nes

 san


cto

 
90



A.

T.

T.

Bar.

B.

   
be

 
sti

 is

 ter


rae,


  
car

 
nes

 san
 

 
rum


 tu


o


    

rum




be

 
sti

 is

 ter

    
rae,

 car


nes


 san

 
    

be


sti


 is


 ter


rae,




     
rum

  be


sti


 is

 ter

      
rae,

  car


nes


 san




 
rum

 tu


o

 rum




be


sti

 is

 ter


rae,








A.

T.

T.

Bar.

B.

 
cto

 rum

 tu


o

 rum




be


sti

 is

 ter

 
rae,

 ter
   

 
cto





rum


 tu


o


 rum


 be


sti


 is

 ter

  
rae,


  
car


nes




   
car

 
nes

 san


cto


 rum


 tu


o

 rum

 be

 
sti

 is

 ter


rae,


 

cto


 rum


 tu

 
o





rum

  
be

 
sti


 is


 ter

     
 

      
car

 
nes


 san




7



100



A.

T.

T.

Bar.

B.

 
rae,




car

 
nes

 san


cto


 rum


 tu


o

 
rum




be

 
  

san


cto


 rum


 tu


o




  
rum


 be


sti


 is


 ter

  
rae,




  
car


nes


 san


cto


 rum


 tu


o




   
 

  
rae,





car


nes


 san


cto


 rum


 tu


o







 
cto


 rum


 tu


o


 rum


  

be


sti


 is






A.

T.

T.

Bar.

B.

  
sti

 is

 ter
    

rae,
  be


sti

 is

 ter


rae,



be


sti


 is


    

car

 
nes


 san


cto


 rum


 tu


o




 


 
rum





be

 
sti


 is


 ter

       
rae,

 


ter

     
 

        
rum

   


be


sti


 is


 ter

    
 

 
ter

  
rae,


  

car


nes

 san


cto


 

110



A.

T.

T.

Bar.

B.

 
ter

   
rae,



be


sti


 is


 ter

   
rae,
 ter


rae,


 

be




 
rum





be

 
sti


 is


 ter

 
rae,




 
be


sti


 is

 ter

    
 

rae,


 be


sti


 is


 ter

     
rae,

 be


sti

 is
 ter

      
 

 
rae,

 ter

 
rae,




 
be


sti


 is


 ter

    
rae,




ter




 
rum


 tu


o





rum


   

be

 
sti


 is


 ter

   

8







A.

T.

T.

Bar.

B.

  
sti


 is

 ter

   
rae,


 
be


sti

 is

 ter

          
   

rae,


 

be

 
sti


 is


 ter


rae,




be




    
rae,


 be

 
sti


 is


 ter

   
rae,



be

 
sti

 is

 ter

 
              

rae,

     


         
rae,

      
be

 
120



A.

T.

T.

Bar.

B.

   
rae,
 be

 
sti

 is
 ter

         
rae.



    
  

sti


 is


 ter

   
rae,



be

 
sti

 is

 ter

      
rae.

  
            

rae,

  


be


sti

 is

 ter

  
rae.


   

be


sti


 is


 ter

        
rae.


   

  
sti

 is
 ter


rae,

 be


sti

 is
 ter

 
rae.




Tertia pars



A.

T.

T.

Bar.

B.

      

    
Ef


fu


 de


 

runt




san


gui


 

 
Ef


fu

 de

 
runt
 san

 
gui


 nem

 i


pso




      
rum,

  san

 
   

Ef

 
fu


 de





runt





san

 
gui


 nem


 i




      
Ef




9



130



A.

T.

T.

Bar.

B.

    
Ef

 
fu

 de

 
runt
 san


gui


 nem

 i

 
 

nem


 i


pso




    
rum,


 

  
ef

 
fu


 de







  
gui


 nem


 i


pso




 
rum,




ef


fu


 de


 

runt




san


gui


 

 
pso





rum,


 i


pso




 
rum,


 ef


fu


 de




   
runt,


 

  
fu

 de

 
runt

 san


gui

 nem,

 san


gui


 nem


 i


pso







A.

T.

T.

Bar.

B.

 
pso

 rum,




ef


fu

 de

 
runt,


   
ef




 
runt


 san


gui


 nem


 i


pso


 rum,


 ef


fu


 de





runt


 san




 
nem


 i


pso




  
rum,

  



ef


fu


 de


  

runt




  
ef


fu


 de





runt,





ef


fu


 de





runt


 san


gui


 nem


 i




 
rum,

 i


pso


 

rum,




  
ef


fu


 

140



A.

T.

T.

Bar.

B.

  
fu

 de

 
runt




san

 
gui


 nem

 i


pso

 
rum,


  

gui

 nem


 i


pso




rum,




 
san


gui


 nem


 i


pso

 


   


 
san


gui


 nem


 i


pso




         
rum,

    
 

pso


 rum,




 
san


gui


 nem


 i


pso


 rum,





san


gui


 

 
de


  

runt

 
 

san


gui


 nem

 i


pso

 

10







A.

T.

T.

Bar.

B.

 
i


pso

 
rum

  
 

tan


quam

 a

   
     

rum,


  i


pso


    

rum


 


tan


quam

 a




  
i


pso


    

rum

 


tan


quam


 a

    
quam,




 
nem


 i


pso


 rum





tan


quam


 a

      
quam,

  
 

 
rum




 
tan


quam


 a

     
quam,

 


tan




150



A.

T.

T.

Bar.

B.

 
quam,




tan


quam
 a

   
quam,



tan


quam

 a

   
     

quam,

 a

 
quam,





tan


quam


 a

     
 

  
tan


quam


 a

    
quam,

 a

    
quam






  
tan


quam


 a

         
quam,

    tan


quam


 a

 


 
quam


 a

   
quam,




tan


quam

 a

   
quam,
 tan


quam





A.

T.

T.

Bar.

B.

   
quam



in


cir


cu

     
i

 
tu

 Hie

 
ru


 sa

 
lem,


 

quam




   
in


cir


cu


 

   
in


cir


cu




    
i





tu


 Hie


ru




 
sa


 lem,




     
quam


    

in



 
a

   
quam


   
in



11



160



A.

T.

T.

Bar.

B.

     
in


cir


cu

  
i

 
tu,

 in



   
i




tu


 Hie


ru


 sa


 lem,


 Hie

 
ru


 sa





lem,





Hie


ru

 
 sa


 lem,




    
in


cir


cu




     
i







 
cir


cu




    
i





tu


 Hie

 
ru


 sa





lem,





in


cir




 
cir


cu




    
i





tu


 Hie


ru


  

sa

 lem,

 Hie


ru


 sa


 



A.

T.

T.

Bar.

B.

 
cir


cu




    
i

 


tu


 Hie

 
ru


 sa


 lem,


 

in

  
cir


cu


 i


 tu





Hie


ru





sa


 lem,


 Hie




 
tu,





in


cir


cu

         
i


  


tu


 Hie

 
ru


 

 
cu




  
i





tu


 Hie


ru


 sa


 lem,


 Hie



ru



 sa


 lem,





Hie




 
lem,





in


cir


cu




        
i


   tu


 Hie


ru

 



A.

T.

T.

Bar.

B.

  
Hie


ru

 sa

 lem,

 Hie


ru

 sa

 lem:


    

ru


 sa


 lem,


 Hie


ru


 sa

 lem:




et

 
non


e

 


  
sa




    
lem,


  Hie

 
ru


 sa


 lem:




  
et



  
ru


 sa


 lem,


 Hie


ru


 sa


 lem:





et


non


e


rat,


  

sa

 lem,

 
Hie


ru

 sa


 lem:


 

et



12



170



A.

T.

T.

Bar.

B.

   
et

 
non


e


rat


          

rat

   
 

qui


se


pe


 li

 
  

non


e


rat


 qui


se

 
pe


 li





ret,


 et



  
et


non


e


rat


 qui


se


pe


 li




 
ret,


 

  
non


e

 
rat,


  
et







A.

T.

T.

Bar.

B.

  
qui


se


pe


 li

 ret,


 
et


non



 
ret,


 
qui


se


pe


 li




  
ret,


 et


non


e

  
rat




 
non


e

 
rat,





et

 
non


e


rat

 qui


se


pe

 li

 ret,


   

qui


se


pe


 li





ret,





qui


se


pe


 li


 ret,


 se


pe


 li


 

  
non


e


rat





qui


se


pe


 li


 ret,




 
qui


se


pe


 

180



A.

T.

T.

Bar.

B.

 
e


rat,



et


non


e


rat




qui


se


pe


 li

 
   

qui


se


pe





li




 
ret,




 
qui


se


pe


 li


 

 
se


pe
 li

 ret,
 qui


se


pe


 li


 ret,

 qui


se


pe


 li




 
ret,


   

ret,


 et

 
non


e

  
rat




   
qui



 
li

 ret,


  

et

 
non


e


rat


 qui


se


pe

 

13







A.

T.

T.

Bar.

B.

 
ret,

 qui


se


pe

 li

 
ret,

  


qui


se


pe


 li

 
ret,


 
ret,

 se


pe


 li


 ret,




qui


se

 
pe


 li


 ret,


 qui


se


pe


 li


  


   

qui


se


pe


 li


 ret,


 qui


se


pe


 li


   

ret,





se




 
se


pe


 li


 ret,


 se


pe

 li




  
ret,

 


qui


se


pe


 

 
li


 ret,


 

qui


se


pe

 li

 ret,

 se


pe

 li

 ret,


 qui



190



A.

T.

T.

Bar.

B.

  
qui


se


pe

 li

 ret,

 qui


se


pe
 li

  
ret.




 

ret,


 qui


se


pe


 li


 ret,


 qui


se


pe

 li

   
ret.

  

 
pe

 li

 ret,

 qui


se


pe


 li




          
ret.

    
 

li


 ret,




  
qui


se

 
pe





li


 ret.




 
se


pe


 li


 ret,





qui


se


pe


 li

 
ret.


  

Quarta pars



A.

T.

T.

Bar.

B.

      
op

 
pro


 bri

 
      

Fa


cti


     

op

 
pro


 bri


 um,





fa




  
Fa

 
cti


 su


mus


 op


pro





bri


 um,


 op


pro


 bri


 

 
Fa


cti

 su


mus

 op


pro




     
bri
  um,



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200



A.

T.

T.

Bar.

B.

 
um,


 

fa


cti

 su


mus
 op

 
pro


 bri

 um

 vi


ci

 nis




 
su


mus




op


pro


 bri





um,


 op


pro


 bri




 
um,


 op




  
cti


 su


mus





op

 
pro


 bri





um,





fa


cti




 
um,





fa

 
cti


 su


mus


 op


pro


 bri


 um


 vi


ci


 nis


 no

   


  
op


pro


 bri


 um


 vi


ci


 nis

 no

 
stris,

  





A.

T.

T.

Bar.

B.

 
no

        
stris,

   vi


ci

 nis

 no

      
stris,
 

 
pro

     
bri


  um,





fa


cti


 su


mus



op


pro


 

 
su


mus

 op

 
pro




  
bri


 um





vi


ci


 nis


 no

   


      
stris,


 

  
fa


cti


 su


mus


 op




   
fa


cti


 su


mus


 op


pro




  
bri

 um,




210



A.

T.

T.

Bar.

B.

   
fa


cti

 su


mus
 op

 
pro


 bri

 
    

bri





um

 vi


ci


 nis

 
no

                
     

stris,


 

 
vi


ci


 nis


 no

  


  
pro




  
bri


 um


 vi


ci


 nis


 no

  
stris,


 op


pro






bri



 um





vi




  
fa


cti

 su


mus

 op

 
pro


 bri


 um




 
vi


ci


 nis



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



A.

T.

T.

Bar.

B.

 
um




vi


ci

 nis

 no

       
stris:

   
 

stris,





vi


ci

 nis

 no

       
stris,

 


vi


ci

 nis

 no

 
      

stris,


 

 
vi


ci


 nis

 
 no

        
 

 
ci


 nis


 no

 
stris,


 vi


ci


 nis


 no


stris,





vi


ci


 nis


 no

  


 
no

 
stris,




 
vi


ci

 nis

 no

    
220



A.

T.

T.

Bar.

B.

  
sub


san
 na

 ti

 o

 et


il


lu

 si

 o,

 et


il


lu


 si

 o,

 et


il


lu

 si

 o




 
stris:


  

et


il


lu


  

si

 o


 

stris:


 sub


san


 na


 ti


 o


 et


il


lu


 si


 o,

 et


il


lu


 si


 o,


 et


il


lu


 si o

  


 
stris:




   

 
stris:




   





A.

T.

T.

Bar.

B.

 
his,

    

 
his,


sub


san

 na


 ti


 o


 et


il


lu


 si


 o


 his,

 
et



 
his,

    

  
sub


san


 na


 ti


 o


 et


il


lu


 si


 o,


 et


il


lu


 si


 o,


 et



  
sub


san


 na


 ti


 o

 et


il


lu

 si

 o,

 et


il


lu


 si


 o,


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230



A.

T.

T.

Bar.

B.

   
sub


san

 na




   
ti

  
o




et


il

 
 

il


lu


 si

 o

 his,

   
sub


san

 na


   

ti

 
    

sub

 
san


 na




   
ti


 o


 et


il


lu


 si


 o,




 
il


lu





si o


 his,

 
sub


san


 na


 ti


 o




 

 
et


il


lu

 si

 o

 his,
  

sub

 
san

 na




 
ti

 o,


 sub


san

 na


 



A.

T.

T.

Bar.

B.

 
lu


 si

 o

 his,

 
et


il


lu

 si

 o,




et


il

 
 

o




et


il


lu


 si


 o




   
his,

 
et


il


lu


 si


 

 
et


il


lu


 si

 o

   
his,

 
et


il


lu


 si

 o

 his,



  
et


il


lu


 si


 o,


 et


il


lu





si o

  
 his,

 

  
ti


 o





et


il


lu

 si

 o

 his,


et


il


lu


 si


 o,

 et



240



A.

T.

T.

Bar.

B.

 
lu


 si

 o

 his,

  
et


il


lu


 si

 o

   
his



 
o


 his,


il


lu


 si


 o




 
his,

  
qui


in


cir


  

et


il


lu


 si


 o




 
his

 

 
et


il


lu


 si


 o




 
his,


et


il


lu


 si


 o




   
his



 
il


lu

 si

 o,

 et


il


lu

 si

 o
   

his

 
qui


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



A.

T.

T.

Bar.

B.

     
qui


in


cir


 
ci


    

i

 
tu

 no

         
stro


   sunt,


no


stro


     

qui


in


cir


cu




  


 
qui


in


cir


cu


 i


 tu


 no


stro


 sunt

 

 
in


cir


cu




    
i





tu


 no

      
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




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T.

T.

Bar.

B.

 
cu

   
i
 

tu,



qui


in


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
cu




    
i

 
tu


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        
  

 
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     
qui


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
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


   
i





tu


 no

    
stro


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
no

    
stro
 sunt,

 
qui


in


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


   
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
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
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
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    
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 
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
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
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
cu
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 tu
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
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Bar.
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  
stro
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   
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
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
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
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
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    
i


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
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   
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   
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
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
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
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


       
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 
  
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


  
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 
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 
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 

qui


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


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
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    
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
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 
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
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


   
i

 
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   
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
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cir

 
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

A.

T.

T.

Bar.

B.

     
stro

  sunt,

  
qui

 
in


cir


cu
  

i


 

 
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
cir


cu

 i
   tu





no

 
stro

 sunt,

   
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

   
stro





sunt,

 
qui


in


cir


cu

  
 i


 tu


 no


stro

 sunt,



  
no

      
stro


  sunt,

 
no

     
stro


  sunt,



 
cu


    
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 
tu




no

      
stro

  sunt,


qui







A.

T.

T.

Bar.

B.

 
tu

 no


stro

 sunt,


qui


in


cir


cu

 i


 tu


 no


stro

 
sunt.



  
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
cir


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  
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
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
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     
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
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stro

  sunt.



O God, the heathens are come into thy inheritance, they have defiled thy holy temple: they have made Jerusalem as a place to keep fruit.
They have given the dead bodies of thy servants to be meat for the fowls of the air: the flesh of thy saints for the beasts of the earth.
They have poured out their blood as water, round about Jerusalem and there was none to bury them.
We are become a reproach to our neighbours: a scorn and derision to them that are round about us.
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